£a @O g

0| &

1
3—25X3+38=

29+41-2x

WD W

1
§+2'9X5+5'4:

3
—+59-5x26=
2

1 1
S 48x-+2-3x41=
3 3

5.6 -

(N )
X
W
_|_

W
Il

59+26-2x3=

11
—+ = x2-8x51+4=
302

S +51-2%x ==
3 2

www.snowmath.com



https://www.snowmath.com

2SN 72N
FalF@ o g HEESIES NN

0|=. ERAF ey
%—2_5x3+3.8=(—;)=(—3%) §+2X4+%=¥-=8%
29+4p@x%=%1=§ 56—§XS+%=%:4%
%+29x5+54=%§=2@% 59+26—2X3=§=2%

S 459-5%26=(2)= (-52) J 3 X2-8x51e4= ()= (81)

13
=4_
30

319
30

W
(U8)
Olw

I 1 19 1
L8 x o 2-3x4]=(-2)=(-10—2)  ~+51-2
3 3 3=l 3 -

www.snowmath.com


https://www.snowmath.com

